Most Missed Ed Puzzle Questions
1) What is the cause of the wind deflection in the separate hemispheres?
2) What is characteristic of the thermosphere?
3) How does water enter the atmosphere?
4) What type of nitrogen causes eutrophication?
5) Why does a population of turtles level out at the carrying capacity?
6) What type of curve is a logistical growth?
7) Define GPP
8) Which of the following is/are advantage(s) of hydroelectric power?
a. educed CO2 emissions 	
b.  extremely efficient/low cost to run 	
c.  high construction costs	
d.  provides flood control	
e.  provides recreational opportunities
9) Which of the following is/are disadvantages(s) of hydroelectric power?
a. limited feasible locations	
b.  habitat destruction/displacement of wildlife and people	
c.  non-renewable energy source	
d.  siltation 	
e.  disrupts flow of fish/wildlife
10) What causes the tide to come in/out? (use the tides ppt under my earth/environ tab) 
11) The two forms of waste produced from a nuclear power plant include (check all that apply)
a. high-level radioactive waste from the fission reaction	
b.  carbon dioxide	
c.  thermal pollution 	
d.  sulfur dioxide
12) Why is the presence of fecal coliform bacteria significant?
13) Where is most carbon dioxide being produced?  Why?
14) Describe ecological footprint.
15) What is the correlation with high economics and greenhouse gases?
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